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O ZAMA © Y 2570 B4 (1), FLEE 257) #7HI™ED)
O ZAF}E © SO, CO, NO, NOg
O #AV|E : HY | T2 X - A|Ad7|Fof W3t 2] A42x(5D9] VA F)
CO : 100 ppmo]3}, NOx : 25 ppm ©J3}, =& : 7|& <&
¥ 1. ZAHCHAF Y
=t | H9H Hx 2t7|9A] TH2(Z0|X =) 27 |A-
M|ETA 643 mX85 m MEZH 11 kWX 14CH
=P\ = =
L STAR iEIZAl | 660 MX94 m A3Z7| 00 KWXALH
2 | = | MPAT | BHEIRAl | 1870 mx94m | £37]| 200 kwxar
N HIETHA xﬂenﬂ 37 KWx22tH
- 7| 30 kWX 6LH
HHOF E ALK E HIS|=Al
4 HHO BEARR IR~ ARART HiS|=Al 2,340 mX10,5 m _g%ﬂ 140 KWX6CH
5 = Seh~51 Hrel =2 Al 1,740 mX9.4 m &F7| 320 kwXx8LH
= 1,130 mX9.0 m
oot Lk A HIS|I= Al , . Arx
_ - £F27| 320 kWX A4CH
S ELARK | TL~oLt HES|Z2Al SS
7 =k BAR I~ b= a e 1,860 mX9.4 m 27| 120 KWXALH
= = 483 mX99 m
=17 Lk - —
8 =01 =T N 460 MX9.9 m
— 280 mX9.9 m
o Lk . —
9 CHA =T N 340 MX9.9 m
= 400 mX9.9 m
A A ] . —
10 T3 =3 RS 421 mx9.9 m
11 CHE] M~ Afslt XAz | 405~416 m —
12 =1 =8+ XAEt7 | 410 m -
13 =2 =28+ NS 520 m —
14 AL AR Az | 192~205 m -
15 | 2 SH2CH+ N 540 m —
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2 | EUY $Ix E7A | FE(ZLO|XE) 7
16 | ZAR shCh= et | 587 m -
17 | &= SHch+ W pacciod 410 m -
18 7Hzt 7|5 H|ETHA] 1,684 m 30 KW X 28LH
19 = 7| H|ETHA] 1,835 m 30 KW X 36CH
20 Hpz 7|15 Xeiety | 576 m -
21 3 715 KETA| 1,375 m 30 KW X 16CH
22 | 7 AT HIEHA] 1,410 m 30 KW x 28tH
23 | 7t=dahiA LA MNIEHA] 3.700 m
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O Zol7} vjua 71 ed(600 mold, 71Al XA AR HE)Y s dolrt vlas
% Hd(600m wlvk, ZpAgk] Ed)e] vls AREHCR & w2 e
H ZAMEIHE 2)
- SOz e F9EHYA 0.010 ppme 2 7P E=A UEReH,
4k, SA-EE SolA 0.002 ppmez 7P WA UE
— CO sk FFEdolA 3.0 ppme= 7 =7 Uehien,
5=, 2F71H9A 0.4 ppm o= 7HY WA YEbdS
— NO; w2+ FFEEA 0.350 ppme= 7P A UEe
LF72Ego] 0.020 ppme2 7P WA UEbd=
— NOx ¥t e oA 1.741 ppm o2 714 =4 Uehte
LZ22¥]doA] 0.056 ppm o2 7P A YERES
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C_1: 7144, Bl : A998 (] : ppm)

E9™ | Zo|(m)[&XY| S02 | CO | NO | NO2 | EEH x| so2 | co [ NO | NO2
Jhdslix | 3700 | 6.29.|0.004| 06 |0.085]|0.210| =R 6. 23.10.004 | 06 |0072]0317
4% | 2856 |6.22 |0006| 1.0 |0.116|0849 | w= 6. 22.|10.002 | 0.4 |0.021 0057
BHoF | 2340 | 6.22.|0.007| 15 |0.170|1.274 | EtAH 6. 23.|10.003 | 09 |0075]0322
T | 1870 |6.23.|0005| 1.0 |0.118|0595 | @=2 6. 22.10.002 | 0.7 |0.024|0.056
2 | 1860 |6.24.|0010| 30 |0350|1.741| =5 6. 22.{0.002 | 05 [0.030(0.086
| 1835 |6.22.[0004| 08 [0.101]|0575( 44 6. 22.|10.005| 1.1 |0.057|0.402
ot2 | 1640 | 6.23.|0006 | 22 |0.172|0876 | CHEl 6. 24.10.003 | 1.2 |0.076|0.282
JWEH | 1684 | 6. 22.|0003| 09 |0088|0459| 221 6. 22.]10.002 | 0.4 |0021 0068
7k | 1410 |6.29.|0005| 09 |0.115[0201| &= 6. 23.|10.002 | 1.2 |0.040]0.105
=9 | 1375 |6.22.|0002| 06 [0.052]|0257 | CHA 6. 22.|10.004 | 08 |0.048]0.19
2ot | 1130 | 6. 22 |0005| 1.4 [0.118|0446 | Z3=5= 6.29.10.004 | 0.4 |0076|0.188
o1 | 820 |6.22 |0003| 08 |0.1100.650

At 660 |6.24.|0005| 09 |0.101|0523 = 025100021 1.3 001810081

3-2 FL E2 [f7|& ZAl ZIKE 3)
FQ T8 A 7k gEd Hi-sE(ppm)= SOp 0.004, CO 0.7, NO 0,133, NO
0.059 ppm ©J3E. AEdH] SO, , CO, NO,;, NOx HF 7rA3IL.

O =2¥ 7S48, =) %%%E jH] SO 73 CO, NO, NOy= =7 et
1}o
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H 3. 20164 EE S7|E =AHAD

zor=z 2 ENA
ag B 2o TN
oA Z|cH E RS
2016 201541 2016 20154 20164 | 20154
SO, 0004 = 0007 0013 = 0013 = 0002 | 0003 | 0004 0007 0002
co 07 08 10 12 0.4 0.4 0.4 07 03
NO 0133 = 0229 = 0433 0555 0049 | 0074 | 0029 0045 0023
NO» 0059 0070 0132 0074 = 0030 | 0038 | 0031 0047 0021
% E2Y IS | 2FS, ZHE SHMIA BHY 218 ZAPDIZF S0l SEE Al AIs Hae
% =2 29 B A= ;10X 2H2H0=Z NMARIE g HaY
O =¥ ZAMEINRE 4)
— SOs= AR 7oA F)(0.013 ppm), AAZ 2 A= T4 240,002 ppm)=

— COx= Y= F7tollA (1.0 ppm), AAL= 7oA ZHA(0.4 ppm)2 LERES.
— NOost= 392 F7klA Z(0.132 ppm), AAZ FH A 220,030 ppm)Z LFERGHS.
— NO= A7ER F0ollA (0,433 ppm), 3= 1A 24x(0.049 ppm)=E HEFSS.

H 4, 20164 B2 S7|E =AHAD

(&1 ppm)
= SO CO NO NO: =2y SO, CO NO NO2
=E 0.002 05 0097 0037 Zekz 0.004 0.9 0380 0132
22 0.002 05 0113 0044 | 2=ciz | 0003 0.9 0084 0050
L2 0.002 0.7 0094 = 0043 | 4Y=thz | 0004 10 0195 0073
EiE=2 0.003 06 0074 0036 Uxz 0013 0.8 0179  0.090
HAHZ | 0,003 05 0129 = 0051 i 0.010 0.6 0075 = 0.064
Tz 0.003 05 0104 0044 | GMrthz | 0010 05 0153 0078
ax=2 0.002 08 0093 0048 == 0.006 0.8 009 0080
HHOFS 0.003 06 0097 0048 =S 0.005 0.9 0099 0077
sz 0.003 0.6 0.148 = 0.065 2 0.003 0.7 0157 = 0.039

SN2 | 0004 06 0433  0.09 Mzz 0.002 05 0.121 0.040
Jl0lHZ2 | 0,003 0.7 0.156  0.057 ZmI= 0.002 05 0055 0,030
2s= 0.003 06 0049 0065
olakz 0.002 0.4 0054 0032
gEL2 | 0005 08 0082 0058
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SO, (ppm)

* 0.000000 - 0.002563
* 0.002564 - 0.004000
= 0.004001 - 0.007000
r’a & 0.007001 - 0.011000
& 0011001 - 0.017000

CO (ppm)

+ 0.000000 - 0.300000

# 0.300001 - 0.700000

0.700001 - 1.200000
# 1.200001 - 2.000000
+ 2000001 - 4.200000

7l =237HE S0, SEE%

Ll =257 CO SEEX

NO, (ppm)

# 0.012000 - 0.043125
# 0.043126 - 0.067000

0.067001 - 0.102000
+ 0.102001 - 0.196000
# 0.196001 - 0.368000

# 0.007000 - 0.093611
# 0.093612 - 0.202000

0.202001 - 0.439000
# 0.439001 - 0.985000
+ 0.985001 - 2.059000

Ct. =277 NO, SEEX

J8 2, 23z 7t
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